
Stat 1350, Drawing Gra by Hand, Spring 2015 Name

lnstructions: For each o the fol lowing problems, fol low the steps d bed to draw a graph ofthe
provided data of the s type.
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the or iginaldat i l .  n data set is displayed below. Put this data in a stem-and-leaf display.
31 qs 40 4L 44 47 I +e s1 s3

sls 57 65 73 81 1.L9

Since the 1p's digit represents more than 5 categories, w'e can use it  as our stem. Draw a
vert ical l inl and l ist the init ial ten's digits on the left side of the l ine. Do not skip any
possible values even if  there is no data in the l ist for thatiunit of 10 (for instance, you need a
stem for 2 (20's) even though there is no data in the range of 20-29).
The leaves pre the ones digits. List them in order on the i ight side of your vert ical l ine.

a )
b)

c)

d )
e)

Space thenl careful ly so that each digi t  takes up the same amount of space.
Be sure to i f rc lude a key to help translate your graph to readers ( for instance 6l5=65).
l f  these nu{rbers represent placement scores on a test of  algebra knowledge whose range is
0 to 120, a{d a t i t le to your graph to tel l  readers what i t  r iepresents.
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shown below, however, we would need to split the l_O,s into 5,s with two
s unit  represent ing the lower half  (ones digi ts o-4) and another the upper hal l f
Use the data below and repeat the above exercise with that change.
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4 .  D r a w a  h i s h of French movies shown .  With 8 bins.
8 L

125
Find the m um and max imum va lue  o f  the  da ta .

When do i
erence and divide by the number of bins (heie, that,s g).
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Take the

Keep doing this unti l  you get to a number ldrger than the maximum value. yr)u
about 8 bins. Rounding may throw this off a,bit,  but that,s okay for this

(one decimal place). cal l  this number w (fcir the width of the bins).
bin starts with the smallest value. Add w to i t  to obtain the smalrest value fc,r

point of  each bin. This is the number we wi l l ,  put on the graph to label each
, f ind  th is ,  you  can take  the  smal les t  number  in  each b in  and add ha l f  the  w id th .
nts on horizontal  axis of the graph. I
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ve axis is ei ther the frequency or the percentagq of data in that category. Draw

rd on the midpoints you plotted to appropriaie heights for each bin.
l -abel your xes and give your graph a t i t le.
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